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1. (n) What is the main subject matter of Logic ? 1

u6Rwl{< {E qlrqrur R<x ft r

@) Is the conclusion of Unscientific Induction certain ? 1

W<s'tfr-+ qltNffi fiqts ffiEs qslg< q{ 6 ?

@ ls there 'inductive leap' in Perfect lnduction ? 1

1"(Waras ql'l{{ qtet'\$rq6 ?

(d) The Paradox of Induction is connected with the Principle of the

UniformitY of Nature. Is it true ? 1

vl3lr{< RcKt{ieH erl&< em"ist ft&< quis ci{@ I $ctt(B shr{ ?

(e) Which is the first stage of hypothesis suggested by Mill's

definition of hYPothesis ? 1

frq< er$q< qigl st{cR eFFffi eqn w<rtt fr z

ff) \A/hat is the meaning.of 'vera causa' ? 1

<t-s< sKq< qd ft I

Q) What is the exact object of moral judgement ? 1'

?aB-$ fiDT<< erfs fi<{-{s fr ?

(D Name the theory which states that the extemal world can be

directly known. 1.

<|qq1E"FI ersrFeE< s1tfi-< "Kt {i{ th v{I ns{4ctF alII ft r

(i) Is the conclusion of Method of Agreement certain ? 1"

$rs'ft g"frfi-< fiqts frFEs 6{ r

0 Fthics is a positive science. Is it true ? 1

ftB.tFq ffiS R-s.nr +cnrt s6.ca ?
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0<) From which Sanskrit root the word 'Dharma' is derived ? 1,

'u5" -rq-ctt fr q<E {lp< em €g< ?qtq t

(t) \Alhich principle of elimination forms the basis of Method of
.1Agreement ?

q";rFr.t< C3.fdfi TO<l sei<u q-{'fr g"11-fr g&ftir- z

2. State ttoo points of differences between deduction and induction.

fiatq{ qFp qlrilffi Trqtr crot fA "[ef<T Bcm{ $-{t r

3' why the law of causation is callecl the formal ground of induction ?

2
st{-s** frfa-s fr-q omufr{-{ qr$K?t. && mm q-{ z

Define Scientific Induction
?<@tF-$ qtatTfi qqel fr$ r

State any truo qualitative marks of causation.
s'f{.f{ freoW @ etAu es"f €rfl{ s_fl r

Derine conjunction of ,^r:;:,tr" exampre..{bf €nr{<.EE sr{"f qTq.s_{ {iel frm r

6. How many types of verifirare these i " ' -- - -^"'C€ltion are there in a hypothesis and what
qr$q-{ emfrqq mQ er+x< q+ fr fr r 2

or / ry?"/
I4lhat do you mean by analogical hypothesis ?qtI"fTE-$ 

E_$q $m fr p1 , 
.o , 

2
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7. Write ttoo criticisms of Naive Realism.

T{E <ls-s<I4-< Ia/ rytretoa.t qrK6pt-<I I

8. Give a definition of Idealism in your own words.

NlTl< fr-q< qq-(< slfl{lk< ebt ciBl fur

2

2

g. Distinguish between fallacy of non-ob5ervation and fallacy of mal-
observation.

qq({sFcf qFF qfg eff6q5ct 6n:F{ Ilqs alTt {tafu fifr e<t r

Write two advantages of observation as the material ground of
Induction. L+1=2

qtrtT{< <-qlE G&'fu'6"i frAs"r{ k'tlR<t fr+ r

Why the Idealism of Leibnitz is called Pluralistic Idealism ? 2

qkfieT< sr<-{q-$ ftT {cE<tft sK<tq F'rEI E{ ?

Define negative condition with the help of a suitable example.

Eq1e €n<q< :t{{s ECT-{ <t d,staFs €"r+r<q< ciet fiil I

1+1=2

Write the name of one ptirnary and one secondary quality of an
object. 1+1:2

{g< .{A{$ ql-s .rA cft.t eq-{ {E ft"fi r

State the qualitative marks of a cause. 4

€h sFTqR onu65 nmq a+iot E-6fl"1 GI I

or / aFql

What do you mean by plurality of causes ? Why plurality of causes
is not scientifically acceptable ? 2+2=4

<t iFtsK.FIlq $rE ft Tqt ? <s$'Frcf<tq frs Rwlqr{E q-{{ r

,2

10.

11.

13.

1,4.
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15. Do you suPPort Naive Realism ? Give reasons in support of your

view. X+3=4

q<rE <rsfl{q qnaF{ {{l6E ? Cel{FI qs{ mc6s 1$ AAa <t t

1.6. t4rhat is 'Crucial lnstance' ? Explain' 4

'fi.fi{s !As' fr ? <11"n q<t I

17. State fzoo advantage s and ttoo disadvantages of the Method of

difference. 
- 2+2=4

<Jffi d"flff< fA{R<1 q$ rAq{R{ tmq mt t

or / afut

Write ftoo advantages and tzuo disadvantages of the Method of
2+2=4

Agreement'

qqft "rhe< 1A{R{I wr+ 1Etqfin fr+t

18. Briefly exPress any four characteristics of Scientific Realism' 4

r+glfrs {s<-<m-< frT<tlnl F/FA ?<FB D*s erst"t q{t I

19. Name the philosopher who made the statement 'Esse Est Percipi"

Explain tn" *tu''tl'"'g of the statement' 'I+3=4

'aglsrc <s fiq]{lr' - qE Cffir< E{s q&s ,1xfi}doq-d< ffi {4311

€@'r< qef il"BI +-{tl

or / afut

Do you think that Hegel's idealism tries to reconcile idealism and

realism ? ExPIain' 4

cccsld-< g.K{rcq <lsffiq qrc sK<lr< flT{ rltt{ sR<rE c5a sRcs fi
gF emra ? {qR F{ I

20. Explain briefly the Dharma and Artha as Purus6rthas' 2+2=4

t${d ,t <{sf+ qdETh <I$l s-<l I
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fie{Eg qffi em rffiFte+-q"l.fft1ffi qraual p-<t 
I

21. Write a note on Plato's Idealism.

csdt< w+<"tq< €"Fs q8 dtot fr:ttr

22. Write briefly the nature of religion.

<{< tq"t q-"1-1"6 E$s frr11 1

23. Briefly explain the four stages of hypothesis.

els-{< ,6As-{< E{ €@"t Ftt

24. State any three similarities and nny fftree dissimilarities between
Unscientific Induction and Analogy. 3+3=6

q$ /GFAr{,{t1-l]' €rmcr o{il
or/qfu

Define Unscientific Induction and state its main characteristics.
1+5=6

ffio qtrN{< qs@.tfr{'tq'r+tfl< {E ?<fiEJ cTcucfl"i +-{tt

25. Define the Joint Method of Agreement and Difference with concrete
. example. State lzoo advantages and ttoo disadvantages of this

method. 2+2+2=6

<tv< €qr<2.16< tcrc fre qrfi <lfuF-fr affi< c<wrfia11 qQq{rfi-{ frl
lRrt q+ ffiq${rSrs< <rr

or/qfu
Explain the Method of Residues with examples. 6

€qr{{qqc,tRrri{ E6Ifi< <rt"m $-{t I

4

ot/ 4fu
State four important aspects with which Ethics deals"

4

4

4
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26. Explain Aristotle's view on causation' 6

s'K"t ,f'"ff6 qREB!--{ {Fr6[ <I"n s-{t I

or/ +l.frT

Explain the Law of Causation as one of the formal grounds of

Induction 6

qlq:w{ ,{$ qlsFras ee REIr< fl{-flqot ffi <il"['t s-{t t

27. ,,Religion and. Morality are mutually dependable" - Discuss it'
6

"qdq1-g ffi a6*e1E fiftftq" - 
q'TFIIu{I s-{tl

Or / ryiQ?

what do you mean by Religion ? which is the most acceptable

definition tf R"Ugion ? Explain ttoo characteristics of Religion'
2+2+2=6

../ q616rqft1ql ? {t'<qFR\ots:{Nl{qq-sq(@t csfddt ? $f{ fa?<fiB

" ffifr{r
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